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Topic: Force of Interest 

 

Brett has the option to invest in either Account A or Account B: 

a. Account A pays a nominal annual interest rate of 6% compounded monthly for ten 

years. 

b. Account B pays a rate equivalent to (2)d  for the first six years and then earns a force of 

interest of 0.008t t   for the next four years. 

If Brett invests 1000 in either account, he will have the same amount at the end of 10 years. 

 

Determine  (2)d . 
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Dylan invests 13,000 today in an account at Nick Bank.   Dylan also invests another 5000 in the same 

account at the end of 5 years. 

 

The account at Nick Bank earns a force of interest of 0.08 0.002t  where t  is measured from today. 

 

Determine how much Dylan has at the end of 9 years. 

Solution: 
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Alisa invests 42,000 in Amir Bank.  At the end of 10 years, Alisa has 100,000.   

 

Amir Bank pays interest based on the following: 

a. The first two years, Amir pays an annual effective interest rate of i  . 

b. During the next three years, Amir pays a nominal discount rate of 8% compounded 

quarterly. 

c. During the last five years, Amir pays a force of interest equal to 
20.04 0.001t t     

where t  is measured from the date of the original investment of 42,000. 

Determine i . 

Solution: 
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You are given that 
1

2( ) 1v t t


     .  

You are also given that 
5 10   . 

 

Determine   . 

 

Solution: 
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You are given that 2( )a t t    and that 
10 0.10  . 

 

Shina invests 1000 at time zero using the above accumulation function. 

 

How much does Shina have after 20 years? 

Solution: 
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